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The following table shows the percentage (%) distribution of the total population of six cities A-F and
percentage (%) of adult population among them. The population of city A is 257400,

City-Wise Distribution of Population

City|(%) Distribution of Population |(%) Adult
A [23.4% 77 %
8 |121.6% 68%
C |B4% T3%
D |18.9% T5%
E |17.5% 69%
F|10.2% T2%

Neon-adult population of City Fis

. 33448
. 32040
301062
. 31416

Y




et arfernT § 2 agai A-F T FHel SHeAr AT &7 9iaerT (%) #iT
IH oA TR T AA9T ( %) FOAT 74T 2 | A g 7 FoT FHEAT 257400
21 ATTereRT § STET F AL 9L graidd 90 T % 3L alioig :

TE-aR e fqaTr

e (oI faaiul (%) (%) 90%D
A [234% 77 %

B [21.6% 68%

C  [84% 73%

D [18.9% 75%

E [|175% 69%

F o 102% 72%

o

F YT & TR-a0 e fiar g 7

1.33448
2.32040
3,30102
4.31416

farereu:-

. 1, e el - 10901,
. 2, e st :- 10902,
. 3, farea S - 10903,

. 4, farea s - 10904,
IR far mar:- 3, faerew emEdt: -10903

gl TES:- 10228

The following table shows the percentage (%) distribution of the total population of six cities A-F and
percentage (%) of adult population among them. The population of city A is 257400,

City-Wise Distribution of Population

City|(%) Distribution of Population |(%) Adult

A [23.4% 77 %

8 121.6% 658%

C [84% 73%

D |18.9% 75%

E |17.5% 69%

Fo10.2% 72%

Population of City D is approximately ___ more than the population of City E.

1
2
3. 14%
4




Faferfaa arfersr 8 28 9730 A-F 6 5 StaeAT Ear &7 9faad (%) 3
IH 2AEE STTAEAT T T4 (%) Z9aT 4T 2 | A 92T ohi el el 257400
21 TR § STET & G 9L w6 f4a Ui ¥ % I alfog

WEI-aR S faae
T[S AT (%) |(%) 3O
Fis 23.4% T7 %
B 21.6% 68%
£ 8.4% 73%
D 18.9% 73%
E 17.5% 69%
F 10.2% 72%
D e DI TS £ T8Y B waed] § T o siftE g 2
1.8%
2. 10%
3, 14%
4. 16%
farerea:-

. 1, faeea a3t - 10909,
. 2, fasea 3t - 10910,
. 3, faereT amdE: - 10911,

. 4, fasre s - 10912,
I fear mar:- 3, ARy emsdY: -10911

gl SS):- 10224

The following table shows the percentage (%) distribution of the total population of six cities A-F and
percentage (%) of adult population among them. The population of city A is 257400,

City-Wise Distribution of Population

City (%) Distribution of Population (%) Adult
A [23.4% 77 %
B |21.6% 68%
C |B4% 73%
D |18.9% 75%
E |17.5% 69%
F|10.2% T2%

Adult population of City C is

1. 67452
2, 68264
3. 66265
4. 65268




rafortad arrorsn § g 9830 A-F 6T F STTASAT [Ad<0 & Aaed (%) #e
3 oAE SIHEAT ® AA9d ( %) ST AT 2 | A 92 i el SIAHEAT] 257400
21 AR § STET F G 9T wEEiEa uis wHi % 39 A

MEY-aR SHEEAT faawor

EX (ST [aTR (%) |(%) 905D
A [234% 77 %

B [21.6% 65%

C |8.4% 73%

D [189% 75%

E |17.5% 69%

F o [10.2% 72%

C Wg? @1 aUeh wHE ] & 7

1.67452
2.68264
3. 66266
4. 69268

farereu:-

. 1, e et - 10893,
. 2, e Sl - 10894,
. 3, Option ID :- 10895,

. 4, Option ID :- 10896,
Answer Given:- 1, Option ID : -10893

Question ID:- 10225

The following table shows the percentage (%) distribution of the total population of six cities A-F and
percentage (%) of adult population ameng them. The population of city A is 257400,

City-Wise Distribution of Population

City|(%) Distribution of Population |(%) Adult
A [23.4% 77 %
B |121.6% 68%
C |B84% 73%
D (18.9% 75%
E [17.5% B9%
Foo10.2% 2%

Population of City A as a percentage of population of City D is, approximately;

1.118%
2, 124%
3. 125%
4. 127%




Frafertaa arferr & g2 ag2i A-F F1 For saear B wy gt (%) e
IH oAE SITHEAT &I a9 (%) ST AT 2 | A STET Al Fe STEEAT 257400
21 ATTerhT § STET % ST 9T A iad g $56 F S A

EI-aR SHEHEAT fdaR0l

BIET (G4 TaaRU (%) |(%) TUED
A [234% 77 %

B [21.6% 65%

C [B4% 73%

D 18.9% 75%

E  [17.5% 69%

F o |10.2% 72%

A EX B OGS D Wed D) oHE @) OTHT fbod WioRid 8 7

1.118%
2.124%
3.125%
4.127%

Options:-

.1, Option ID :- 10897,
« 2, Option ID :- 10898,
. 3, Option ID :- 10899,

. 4, Option ID :- 10900,
Answer Given:- 3, Option ID : -10899

Question ID:- 10227

The following table shows the percentage (%) distribution of the total population of six cities A-F and
percentage (%) of adult population among them. The population of city A is 257400,

City-Wise Distribution of Population

City|(%) Distribution of Population |(%) Adult
A [23.4% 77 %
8 121.6% 68%
C |84% 73%
0 |18.9% 75%
E |17.5% B69%
Fo10.2% 2%

Adult population of City B and City C together as a percentage of the population of all six cities together
is, approximately

1.18%
2.21%
3.25%
4. 27%




Frerferfare arfersr § =g 98w A-F F7 e STaeAT @ #1 9faad (%) #fi
3H oFE SITHEgT F AA9Td (%) ST AT 3 | A 9122 %1 el SIAHE4AT 257400
21 TR § TET & G U FEE g i w5l F 39 Ay

TE-AR ST faaver

e (OS] faaRul (%) |(9%) 99%h
A [234% 77 %

B [216% 68%

C [84% 73%

D [18.9% 75%

E [17.5% 59%

F o [10.2% 72%

B I8Y 3R C WeX & B au® Faey 94 B Uedl ®] G STuE] 6] Ty e Hiawd & 2

1. 18%
2.21%
3.25%
4, 27%

Options:-

.1, Option ID :- 10905,
. 2, Option ID :- 10906,
. 3, Option ID :- 10907,

. 4, Option ID :- 10908,
Answer Given:- 1, Option ID : -10905

Subject : 13_GP_SH1_Set2_B

Question ID:- 10244

ff ‘BEAUTIFUL' is coded as "ADZTSHETK' in some coding scheme, then how will 'HANDSOME' be coded in
the same scheme?

.GBMETOLD
LGZMCRNLD
JZMCRPNF
ABMCTENF

Ja LD P e

afg ‘BEAUTIFUL' 1 fbelt GEIBRU TiorT 5 "ADZTSHETK' & ©U H Feds [a il & of 390 Jisr §
"HANDSOME' @] {6 ¥ tRE D [odl Wi 7

.GEMETOLD
LGZMCRNLD
ZMCRPNF
BMCTPNF

Ja LD O e

Options:-




.1, Option ID :- 10973,
« 2, Option ID :- 10974,
. 3, Option ID :- 10975,

. 4, Option ID :- 10976,
Answer Given:- 2, Option ID : -10974

Question ID:- 10250

Match List | with List 11

List | List I

OBVERTEND OBVERSE

AAllSisP I. Seme 5 is non-P
B.NoSisP Il. No S is non-P
C.SomeSisP 1. All S is non-P
D.Seme S is not P |IV. Some § is not non-P

Choose the correct answer from the options given below:

T.A-LB-ULC-IV,D-1
ZA-ILB-IL,C-1,D-IV
LA-ILB=-ULC-IV, D=1
4A-NLB-ILC-IV,D-|

-l -l

BIGEGEACEDS BIGEG]

A TS, PEI . BB STR-P I

B. 35 WS, Pl 6l I, ®ig vt s TR-p &1 &I
C. PSS, PEI . g sTR-PEl

D. TS, PEI & V. PS8 S TR-p &l Bl

id fgu e fgmed! H 4 WEl S gHu:

T.A-LB-ILC-WV,D-1
2ZA-ILB-ULC-1,D-1IV
BA-ILB-ULC-IV, D~
4A-NLE-ILC-IV,D-|

Options:-

.1, Option ID :- 10997,
. 2, Option ID :- 10998,
. 3, Option ID :- 10999,

. 4, Option ID :- 11000,
Answer Given:- 2, Option ID : -10998

Question ID:- 10261




Given below are two statements

Statement I: Pesticides such as DDT are particularly disruptive to food chains,

Statement II: Pesticides are very persistent and soluble in water,

In light of the above statements, choose the most apprepriate ariswer from the options given below

. Both Statement | and Statement || are correct
. Both Statement | and Statement || are incorrect
. Statement | is correct but Statement || is incorrect

S S 0 R

. Statement | is incarrect but Statement |l is correct

T d ey Bun g uE 31 i@y (4) 3R §H & SR (R) FE T B |

HHUT (4) : 21310 O PleTN® faLy ©U § @ ST § fawscd aid o

BRI (R) ; DICAND D e AR 9ef H Yo-I=ie &id g1
Sutlad SyAT & aei® o FHifed Heedl § 4 wd g T ;
1. (A) Sﬂ? (R) E{Flﬁqsﬁié'ah? (R), (A) P Tel AR o
2. (A) 3R (R) TFT TE E UL (R), (&) BT GET o9 T8 B

3. (A) U8l § U3 (R) HEl 61 B
4, (A) Tl 81 8 W3 (R) 91 o

Options:-

.1, Option ID :- 11041,
. 2, Option ID :- 11042,
. 3, Option ID :- 11043,

. 4, Option ID :- 11044,
Answer Given:- 1, Option ID : -11041

Question ID:- 10252

Which of the following statements are true regarding Nyaya logic?

A. Inference is from the universal to the particular only.

B. Inference is from the particular to the universal only.

C. Inference is from the particular to the particular only.

D. Inference is from the particular to the particular throught the universal.
Choose the correct answer from the options given below:

.D only
A only
.Aand B only

oSS A R L R

.Band D only




Faiaied # 9 @14 @Y 1 qoweE © aR H el 6 7
A, SFFFH e W § A9 9@ e 8

B, A Had 438 & G 9@ el o

C. %8 ®ag [y Y A8y d@ el g |

D. A 1999 { HH= & Hre 4 399 a% sidl o
i & 71 faped! 4 Wl Sw g

1. 98D
2. g A
3, Hag AR B
4, WAL ARD

Options:-

.1, Option ID :- 11005,
. 2, Option ID :- 11006,
. 3, Option ID :- 11007,

. 4, Option ID :- 11008,
Answer Given:- 2, Option ID : -11006

Question ID:- 10256

Given below are two statements

Statement I: The contents of most forms of RAM are volatile, thus making them unsuitable for long term

data storage.
Statement II: Hard disk has faster access of data in comparison to RAM as well as processor registears,
In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement |l are true
2, Both Statement | and Statement |l are false
3. Statement [ is true but Statement Il is false
4 Statement | is false but Statement Il is true

o sy fRum e
TYF - | : AR U TH & AP G P et ae g, 36  anas el SR & 7 oEugE 8
EICE]
WY - 1) : R U TH 3R UG ot @1 goFl H B16 (8% &) Slel a® Ugd H4d did 8
Iudad Syl & ATde § Fefaiaa el H ¥ wei W T -
1.9y | SR 1 G T 8l
2. @Y | 3R (1 GHI ST 8l

3.T Y | O &, T Ty 1| SEd B
4. @Y | A &, foq @ 1| 9 &




Options:-

.1, Option ID :- 11021,
. 2, Option ID :- 11022,
. 3, Option ID :- 11023,

. 4, Option ID :- 11024,
Answer Given:- 1, Option ID : -11021

Question ID:- 10235

An analysis of the subject’s life for meaning has the focus of

1. Structuralism

2. Pragmatism

3. Sociclogy

4, Phenomenology

H B g 3 (Geege) & g & o § Fefed | € o mieg e g 0

G
. Ageaaang

_.I‘.*. E_U [
g

cllasg

Options:-

.1, Option ID :- 10937,
« 2, Option ID :- 10938,
. 3, Option ID :- 10939,

« 4, Option ID :- 10940,
Answer Given:- 2, Option ID : -10938

Question ID:- 10259

The substance that slows down the neutrons to have controlled chain reaction during nuclear energy
preduction is called as

. Controller
. Inhibitor

. Moderator

B SO S R L

. Reducer




TS Fa SET P SRF A s uflea & e 2h o S e 97w @ Fetfaa §
FNFe T & ?

1. FrFe @dw)
2, HIHD GFAelEeR)
3, He® (AR
4, THeR® (NS

Options:-

.1, Option ID :- 11033,
. 2, Option ID :- 11034,
. 3, Option ID :- 11035,

. 4, Option ID :- 11036,
Answer Given:- 3, Option ID : -11035

Question ID:- 10243

Match List | with List 11

List | List Il

Discipline Focus of Communication Process

A. Anthropology |I. Motivatien

B. Scciology II. System

C. Psychology  |lll. Culture

D. Management |IV. Society

Choose the correct answer from the options given below:

T.A-ILB-ILC-IV,D-|
ZA-ILB-IV,C-1L,D-1I
JA-LB-1LC-L,D-IV
4A-IVB-LC-ILD-1I

! - DI gl -1l E GHE P ;

g - gl -1

LR WU Ul @1 6% fag
A, AFE fagme 1. AR

B, FHEEIR I1. Tegifel

C. THIfaT= 111, Yt

D. JgEE IV, FHTS

d feu e fGe! o U 9g S gHT:

T.A-ILB-ILC-V, D-|
ZA-ILB-IV;C-1,D-1l
SA-LB-ILC-II, D=1V
4A-IVB-LC-I,D-1




Options:-

.1, Option ID :- 10969,
« 2, Option ID :- 10970,
. 3, Option ID :- 10971,

. 4, Option ID :- 10972,
Answer Given:- 2, Option ID : -10970

Question ID:- 10266

The expenditure on the research and innovation in India, at present, is only ___ % of GDP.

.0.20%
. 0.69%
131%
. 2.14%

oSS Y S R

oA H HRA H SHYH AR A9hR W g gl o Had 93, 9dg @1 891 PIGRGE]

.0.20%
. 0.69%
.131%
.2.14%

S-SR 10 Y L

Options:-

.1, Option ID :- 11061,
« 2, Option ID :- 11062,
. 3, Option ID :- 11063,

. 4, Option ID :- 11064,
Answer Given:- 2, Option ID : -11062

Question ID:- 10242

Given below are two statements

Statement I: Non-verbal signals are used to emphasize and support the verbal communication,
Statement lI: Non-verbal signals are not a substitute for verbal communication,

Ini light of the above statements, choose the correct answer from the options given below

. Both Statement | and Statement |l are true
. Both Statement | and Statement |l are false
. Statement | is true but Statement |l is false

S-SR O 1 Y NS

. Statement | is false but Statement |l is true




BY - | R-Tfeas Shas (49e) Wisad RN 0 Fd o 31X 396 994 e Wid aid o

@Y - || IR-WMTeq® Yobdd e YRIYY §q BI5 UGS 781 8
IdEd BYA! $ Aeis H FERad el § ¥ 98 Iw I

1.®Y9 | R 1 GH Fd 8l

2, @Y | 3R 1| GF 2 ET B

3.@ Y | T &, g @y 1 3Ed Bl
4, Py | AR, B PYT 1§ B

Options:-

.1, Option ID :- 10965,
« 2, Option ID :- 10966,
. 3, Option ID :- 10967,

. 4, Option ID :- 10968,
Answer Given:- 3, Option ID : -10967

Question ID:- 10260

Which of the following pollutants is considered as surrogate for eye irritation?

1. Nitrogen dioxide
2, Sulphur dioxide
3. Carbon monoxide
4, Ozone

Pt & 4 fou ugue & 99 & 5o & e Ufged & S AT S @ 2

1. AIgeIoH SIgeliadzs
2. TR SBHaEES

3, FEA GHES
4, HIGH
Options:-

.1, Option ID :- 11037,
. 2, Option ID :- 11038,
. 3, Option ID :- 11039,

. 4, Option ID :- 11040,
Answer Given:- 1, Option ID : -11037

Question ID:- 10236




Which of the following are the characteristics of case study research?
A. Itis simulated in a laboratory.

B. It is particularistic.

C. It is descriptive.

D. It is inductive.

E. It is disruptive.

Choose the correct answer from the options given below:

A, Band Conly
.B, Cand D only
.C, D and E anly
A, Band Eonly

BSOS J—

Prafeia & 9 us siegg- 9y &1 &4 O ARpan € 2

A. T8 YOG H S9E10d gidl 6
B. % faIFaIR® &

C. 98 aUiEF &

D. U8 HFTHAED &
Eqefgdy@

T e e Reegl § G W IR 95

1.3au A, B AR C
2. @ad B, CARD
3.$9dC DARE
4, Had A BARE

Options:-

.1, Option ID :- 10941,
« 2, Option ID :- 10942,
. 3, Option ID :- 10943,

« 4, Option ID :- 10944,
Answer Given:- 1, Option ID : -10941

Question ID:- 10265




Who among the following was the Chairperson of the Committe setup by the National Council for
Women Education in 1962 to examine the differentitation of curriculum for boys and girls at all stages of
education?

. Bhaktavatsalam

. Hansa Mehta

. Durgabai Deshmukh
. Margaret Cousins

Ja LD

frefaled & 9 ugig afeen fRien oieg erT 1962 7 Fgdd @1 715 99 9l @7 srme @ o, o Rian @
i TN & Tem| AR Aoyl §] Uredadl & [qUGH B ofid @i o [od el 491 U 7

1. HaddeddHd

2. 59 Haal

3. GISTE CergE
4, AT @a5

Options:-

.1, Option ID :- 11057,
. 2, Option ID :- 11058,
. 3, Option ID :- 11059,

. 4, Option ID :- 11060,
Answer Given:- 2, Option ID : -11058

Question ID:- 10254

Computers have evolved from the early mainframes to the relatively small smart devices with high
computing power used today. Which of the following inventions contributed to reduce the physical size
of computers?

. Vaccum tube
.Integrated circuits
. Registers

S S O R | R

. Solid state memory

I HRIYS T760 © e 2 50 e 9= UReer Sifdd arell 31 ¥ JUS0 & TU 8| e
@ Yiia® @R & 9eH § FEiiReas 4 4 9 AfaeR & 9ieH & ?

1. 9FH &F )
2. Thipd URUY G<Rilcs Wihe)
3. AR

Options:-
.1, Option ID :- 11013,
. 2, Option ID :- 11014,




. 3, Option ID :- 11015,

. 4, Option ID :- 11016,
Answer Given:- 4, Option ID : -11016

Question ID:- 10268

Match List | with List I

List |

List Il

Educational Agencies (Acronyms)

Educational Domains

AL NIOS I. Teacher Education

B. NCTE Il. Technical Education
C. AICTE Ill. Vocational Education
D. NCVET V. Distance Education

Choose the correct answer from the options given below:

T.A-V,B-1,C-1, D=
ZA-LB-1L,C-ILD-1IV
A-ILB-ULC-IV, D=
4A-NLB-IV,C-1LD-1

G -1 B -1 Y gHed B ;

g - -
21&ire Tei-te (@ikant) Qe e
A, U315 3109 13T TR&T
B HAS. II. BT RI&T
C. L3RS, (11, ST e
D. A, IV, IRy TRyar
g fau e famed! o ¥ Od S gAe:
T.A-IV,B-1,C-1,D-M
2A-LB-1,C-,D-1V
BA-IB-N,C-V,D-|
4A-NL,B-V,C-1L,D-1l
Options:-
.1, Option ID :- 11069,
. 2, Option ID :- 11070,
. 3, Option ID :- 11071,
« 4, Option ID :- 11072,
Answer Given:- 1, Option ID : -11069

Question ID:- 10262




Given below are two statements
Statement I: Global warming could lead to increased release of the greenhouse gas, Methane.

Statement II: There is a large amount of Methane currently frozen in the permafrost in the far northern
regions of the world.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct

TREFE BT E . @ B! AEYE (4) HR TR B ORI (R) T B
@Y () ; 3f%® 199 (alEa aran) § JHerad 19, T @1 3fUe e o) 9%l o
BRI (R) : GoA 3 3% & gex ool &1 &1 el uR o & 49 4 g d o g B
ST B & HD § FHiod [Gocd § § 98 S a

1. (A) 3R (R) ST FEl § 3R (R), (A) BT Fel @ 21

2. (A) 3R (R) TFT T8 & U (R), (A) BT T8I IR T8 B

3. (A) UEI § U (R) W8l Fe1 B
4, (A) Tl 981 8 U3 (R) W01 o

Options:-

.1, Option ID :- 11045,
. 2, Option ID :- 11046,
. 3, Option ID :- 11047,

. 4, Option ID :- 11048,
Answer Given:- 1, Option ID : -11045

Question ID:- 10241




Which of the following are the key features of linear model of communication?
A. One-way communication

B. Manipulated feedback

C. Absence of noise

D. Used for mass communication

E. Sender-centric communication

Choose the correct answer from the options given below;

A, Band Conly
B, Cand D only
.D, Cand E anly
A, Dand E only

BSOS J—

Prfefed & € & 9 900 & g Hisa & 9 RN g 7
A, TEH-H GAET

B. B9-giferd Uiag®

C. TR &1 SR

D. S9-HUNT &g Wga i arell

e U e fapedl § 9 e SR g

1. ®aTA, B AR C
2. %adE, C AR D
3, D, C 3 E
4, FWIAA DAHRE

Options:-

.1, Option ID :- 10961,
« 2, Option ID :- 10962,
. 3, Option ID :- 10963,

. 4, Option ID :- 10964,
Answer Given:- 4, Option ID : -10964

Question ID:- 10238




Given below are two statements

Statement I: Exploratory research is conducted for data indications.

Statement II: The goal of exploratory research is to gather final data to find out causality.
In light of the above statements, choose the correct answer from the options given below

. Both Statement | and Statement |l are true
. Both Statement | and Statement |l are false
. Statement | is true but Statement |l is false

S S 0 R

. Statement | is false but Statement [l is true

e sy RuM e
@Y - | : TANOHS Y STel Yad| & (A8 B gl g1

HYT - 1| TAYUIoHD ATY B & DR DI 56 ® 1018 3ffA STl THH P &
ITEd BYA| & HGIS 4 HRkiRad [deedl 4 ol 3w A :

1. @Y | 37 |1 GHI T 8

2. By | R 1| G A B

3. @Y1 9g €, foig @Y || 3 6
4. Y| oTd e, g 1 TE R

Options:-

.1, Option ID :- 10949,
. 2, Option ID :- 10950,
. 3, Option ID :- 10951,

. 4, Option ID :- 10952,
Answer Given:- 1, Option ID : -10949

Question ID:- 10257

Which of the following statements is/are correci?

A. Digital governance has been legalized by the IT Act (2000) in India.

B. IT Act is a watershed in conceptualizing administrative reforms in India.
C. Digital governance is a boon in curbing bureaucratic red-tapism.
Choose the correct answer from the optians given below:

.B and C only
. B only

.A and C only
A, Band C

S-S T R




T i A e A sy ge 5 7
A, GEAT UI=FT®] SUFTHE, 2000 B8R HRG H f3iied ara- o fafimrg o1 fear gl

B. 313 & AUFTH yRd & yeeHe QURl & Sugdieio & 49y J Sdiie Aeauy

c. fsfoea Ime Fiewne aa-BaEg] @ HaEd @ 3 0@ waH B
I Tgu 7Te fawegl & 4 WE W

1.HaAB AR C
2. Wad B

3, HadANRC
4, Fa0A BARC

Options:-

.1, Option ID :- 11025,
. 2, Option ID :- 11026,
. 3, Option ID :- 11027,

. 4, Option ID :- 11028,
Answer Given:- 4, Option ID : -11028

Question ID:- 10263

Given below are two statements

Statement I: Biodiesel can reduce Sulphur emissions significantly in comparison to gasoline,
Statement II: Energy density of biodiesel is much less than that of ethanol.

In light of the above statements, choose the correct answer from the optians given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement Il is true

d e e RmE )
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®Y - 1| : SIGISTod &1 BHefl Yricd Ul @I gol H agd &4 sldl
I YAl & =ee § Fofafaa feai d Y uei S T -
1.5Y 1 3R 1 AT 9T B
2. @Y | SR 11 GEl SO B

3. @Y1 9 ¢, fog By 1| 3TA 6
4, T Y| IEA T, g FYA 1 9l Bl

Options:-
.1, Option ID :- 11049,
« 2, Option ID :- 11050,




. 3, Option ID :- 11051,

. 4, Option ID :- 11052,
Answer Given:- 1, Option ID : -11049

Question ID:- 10230

Which of the following is a graphical too!l for arganising and representing knowledge?

. Concept maps
. Lesson plan
. Summary

S-S R 6 I

. Diagram

TH @1 Wi 3R Ugd ® & [ Fafiad § § & T TH1Y SuH & 2

1. ON@G g AHfaA
2. 9rE-arat

3, 9R

4, 3NE-F3

Options:-

.1, Option ID :- 10917,
. 2, Option ID :- 10918,
. 3, Option ID :- 10919,

. 4, Option ID :- 10920,
Answer Given:- 4, Option ID : -10920

Question ID:- 10258

Match List | with List 1

List |

List 1l

Ethical Issue in Information Technology

Description

I. Responsibility of data collector to ensure

A. Privacy
= accuracy
Il. Responsibility of data collector to contro!
B, Accuracy
access
C. Property III. Collection and use of data about individuals
D. Accesibility V. Data ownership and Software Usage Rights

Choose the correct answer from the options given below:

T.A-ILB-1LC-IV,D-1l
ZA-IVB-LC-1L,D-1
BA-LB-ULC-1L,D-1IV
4A-NLE-LC-1L,D-1IV
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T.A-NLB-LC-IV,D-1
2ZA-IVB-LC-1LD=1I
JA-LB-ULC-1,D-1IV
4AA-LE-LC-ILD-IV

Options:-

.1, Option ID :- 11029,
. 2, Option ID :- 11030,
. 3, Option ID :- 11031,

. 4, Option ID :- 11032,
Answer Given:- 1, Option ID : -11029

Question ID:- 10232

A teacher can have a satisfying teaching profession when s/he

1. is mare qualified than his/ her colleagues.
2. is close o higher authorities,

3. has good control over the students,

4, commands respect from the students.

el sfeOa® & &Y U G199 Sf9d a9l gl 9ddl &, 4G 98-

1, 30 Gepiaal 9 e e
2. 3= if¥erial & Fac gl

3, BT I 33T g Tgar/adl 8|
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Options:-

.1, Option ID :- 10925,
« 2, Option ID :- 10926,
. 3, Option ID :- 10927,
. 4, Option ID :- 10928,




Answer Given:- 4, Option ID : -10928

Question ID:- 10251

Which logical informal fallacy is committed in the following argument?

"The maths teacher said that there was to be no talking during the test. So it is fair that Chandni had
points deducted for asking to go to the washroom because she felt sick”.

.Appeal to force
.Appeal to emotion
. Appeal to authority

oSS R L R

. Fallacy of accident

ufeied gidd § @9 SFMEIE do-61y ol 14T 6 - 'Wﬁméﬁfﬁwﬁw—al%uﬁ&p%ﬁ@?ﬂﬁ%
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1. 56 A8

2. B4 38
3. UIfeR 3R
4, JUTE aH-ay

Options:-

.1, Option ID :- 11001,
. 2, Option ID :- 11002,
. 3, Option ID :- 11003,

. 4, Option ID :- 11004,
Answer Given:- 3, Option ID : -11003

Question ID:- 10247

A certain sum of meney on a certain annual rate of interest becomes T1008 in 2 years and 1184 in 3%

years. Find the sum and the annual rate of interest.

1.X.800, 12%
2.3 875, 12.5%
3.X.850,12%
4.3 800, 13%
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1.800 T, 12%
2.875 %, 12.5%
L850 T, 12%
.B00 X, 13%

[ O W

Options:-

.1, Option ID :- 10985,
« 2, Option ID :- 10986,
. 3, Option ID :- 10987,

« 4, Option ID :- 10988,
Answer Given:- 4, Option ID : -10988

Question ID:- 10233

Which of the following scales of measurement is synonymous te ranking or grading?
. Neminal scale

. Ordinal scale

. Interval Scale

Ja LD A e

. Ratio Scale

FafafEd & 9 9= &1 &1 91 09[T SHd<dl T Svfiesar &1 gaFEi g 2

1. 1 99T

2. FHYES THHAT
3. 3fiI OHAT

4, 3F0E 9EE]

Options:-

.1, Option ID :- 10929,
« 2, Option ID :- 10930,
. 3, Option ID :- 10931,

« 4, Option ID :- 10932,
Answer Given:- 2, Option ID : -10930

Question ID:- 10239

The phenomenological interpretatian in communication involves

. Collective experience
.Secondary experience
. Personal experience

Jao LD A e

. Indirect experience




RIS H SO SR HEfaEd H § ege! FiE @l © 7

1. 9He® 4T
2, 707 344
3. 5 sva
4, AT 3FHT

Options:-

.1, Option ID :- 10953,
« 2, Option ID :- 10954,
. 3, Option ID :- 10955,

. 4, Option ID :- 10956,
Answer Given:- 1, Option ID : -10953

Question ID:- 10245

The average of prime numbers between 1 and 20 is:

.9.525
.8.625
.9.625
.8.525

B S R L R
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Options:-

.1, Option ID :- 10977,
« 2, Option ID :- 10978,
. 3, Option ID :- 10979,

. 4, Option ID :- 10980,
Answer Given:- 1, Option ID : -10977

Question ID:- 10249




ff the statement, 'All human beings are mortal’ is given as true, which of the following can be inferred
from it to be true?

. Some human beings are mortal.
. No mortals are non-human beings.
. Some non-mortals are human beings.

S-S 0 T 6 R

. Some non-human beings are not mortal.

% BYF - FH AT PR & &l 9 & w4 J [ea1 W ¢ o Fefaied § 3 Gwe 99 & w0 § o e
EIREE

1. 08 JHd R gl

2. @is 9 R-AHa e o
3. 5% HPR AT 5

4, 5% TR-AHT A% T8l o

Options:-

.1, Option ID :- 10993,
« 2, Option ID :- 10994,
. 3, Option ID :- 10995,

« 4, Option ID :- 10996,
Answer Given:- 2, Option ID : -10994

Question ID:- 10255

Which of the following are broad functions of an Operating System in computers?
A. Handling of files and folders

B, Converting from high-level language to low-level language

C. Interfacing between user and hardware

D. Helping to run application software

Choose the correct answer from the options given below:

A, Cand D only
.B, Cand D only
A and C only
JAB CandD
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B. 3= W00 YT & 9 W 9T H SR

C. a1 d BIS 4R & 04 Se3hd
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1.&ad A, C3{RD
2. @90 B, C AR D
3, HaA A AR C
4A B C3RD

Options:-

.1, Option ID :- 11017,
« 2, Option ID :- 11018,
. 3, Option ID :- 11019,

« 4, Option ID :- 11020,
Answer Given:- 1, Option ID : -11017

Question ID:- 10264

The Mational Education Policy, 2020 envisages that all higher education institutions will be incentivized,
supported and mentored and shall aim to become autonomous, and have an empowered Board of
Governors by the year
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Options:-

.1, Option ID :- 11053,
« 2, Option ID :- 11054,
. 3, Option ID :- 11055,

. 4, Option ID :- 11056,
Answer Given:- 2, Option ID : -11054




Question ID:- 10267

Given below are two statements

Statement I: To address inter-state variations at all levels of Education, it was brought on io the
Concurrent list in the Constitution in 1976,

Statement |I: The institutions approved under State Legislative Act are not empowered to award degrees.
Ini light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement Il is true

g wE R
FYF - | a0 & G R o sfR-uwdg fiEdei @1 59 ®ed o fad [2&T $i 1976 § dfaYE @ g5aar
! ® aar |
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IFT S| & HTE® § FgfaRad 9o § Y 9el S 9 -
1.F YT R I TAI I B
2. @Y | AR I GE AT B

3. @Y | T &, fid YA 1 3Ed Bl
4, B HEIE, B PYT I T B

Options:-

.1, Option ID :- 11065,
« 2, Option ID :- 11066,
. 3, Option ID :- 11067,

« 4, Option ID :- 11068,
Answer Given:- 1, Option ID : -11065

Question ID:- 10240

In communication, the test of parsimony will have the element of

1. Logical simplicity

2, Complex validity

3. Susceptible generalisability
4, Abstraction




RIS, qeigdl o e H ST o 1He g

1. Aifcee TRardr

2, Sfed quar

3. YI9-TE0 HEFES0T
4. HR¥sY

Options:-

.1, Option ID :- 10957,
« 2, Option ID :- 10958,
. 3, Option ID :- 10959,

. 4, Option ID :- 10960,
Answer Given:- 3, Option ID : -10959

Question ID:- 10231

Which of the following is a learner-centered method?

1. Inquiry approach

2, Lecture method

3. Demonstration method
4, Team teaching

Frfered 3§ 9 o U [Reml-oisd @i s ?

1. UGS Ui
PR P HERSEAR
3. FEER us
4, T1H-H=g

Options:-

.1, Option ID :- 10921,
« 2, Option ID :- 10922,
. 3, Option ID :- 10923,

. 4, Option ID :- 10924,
Answer Given:- 4, Option ID : -10924

Question ID:- 10237




Which of the following are included in a research article?
A. Introduction

B. Data

C. Data analysis and results

D. Foreward

E. Letter of recommendation

Choose the correct answer from the options given below:

A, Band Conly
.B, Cand D only
.C, D and E anly
A, Band Eonly
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1. 908 A, B 3R C
2. ®ad B, C AR D

3, $a0C, D INE
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Options:-

.1, Option ID :- 10945,
. 2, Option ID :- 10946,
. 3, Option ID :- 10947,

« 4, Option ID :- 10948,
Answer Given:- 1, Option ID : -10945

Question ID:- 10253




Which of the following inferences are based on causation accerding to Nyaya view of inference?
A. Inferring future rain from the dark clouds

B. Inferring past rain frem the swift muddy water in the river

C. Inferring cloven hoofs of an animal by its hams

D. When we infer somebody's existence outside of his house since the person is not cancurrently present
in his house

Cheose the correct answer from the options given below:

.Aand C only
.Cand D only
.Aand B only

S-S O R S R

.B and Conly

HITH & IR § 19 0 & AOR FERiEa ¥ 3 3 J SAE S-0RY 4E ) ARG § 2
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2. @06 C R D

3,?5?13;;3?]?3
4, 6ga B3R C

Options:-

.1, Option ID :- 11009,
. 2, Option ID :- 11010,
. 3, Option ID :- 11011,

. 4, Option ID :- 11012,
Answer Given:- 3, Option ID : -11011

Question ID:- 10234

Population census can be an example of

1. Historical Study

2. Case Study

3. Longitudinal Study
4, Experimental Study
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Options:-

.1, Option ID :- 10933,
« 2, Option ID :- 10934,
. 3, Option ID :- 10935,

. 4, Option ID :- 10936,
Answer Given:- 2, Option ID : -10934

Question ID:- 10248

Find the next term in the series given below

4,16, 8, 64, 12, 256, 16, 1024, 20,7

1.4096
2.24
3.320
4.4100
il €1 71E STt 3ATE UG §d1sy ?

4,186, 8, 64, 12, 256, 16, 1024, 20,7

096
.24

]

0
100

S-Sl i J e -3

1.
2
3.
4,

Options:-

.1, Option ID :- 10989,
« 2, Option ID :- 10990,
. 3, Option ID :- 10991,

« 4, Option ID :- 10992,
Answer Given:- 2, Option ID : -10990

Question ID:- 10246




if the selling price of 10 articles is equal to the cost price of 15 articles, what is the profit percentage?

1.50
2,40
3.45

4,33.33

ofE 10 TGS @ fawg 5o 15 950 & a0 550 & 90U & of a1y UeSa E e

1.50
2,40
3.45
4,33.33

Options:-

.1, Option ID :- 10981,
« 2, Option ID :- 10982,
. 3, Option ID :- 10983,

. 4, Option ID :- 10984,
Answer Given:- 1, Option ID : -10981

Question ID:- 10229

In the Four-Quadrant format of MOOCs, which of the following facilitates interactions amongst learners
and course coordinators?

1. Videos

2, Assessments

3. Reading material
4 Discussion forum

@31 31.H] (MOOCs) & IR agyier ared H g o € S Rigiiat oik wieuss Se-age! & d =1
ORI gEERe?

1. fafsat

2. gl
3. U150 IiEdl
4. UiE=i 99

Options:-

.1, Option ID :- 10913,
. 2, Option ID :- 10914,
. 3, Option ID :- 10915,

. 4, Option ID :- 10916,
Answer Given:- 3, Option ID : -10915




Subject : 13_GP_SH1_Set2_C

Question ID:- 10272

Scholars refer to the western perception of Third World societies. They discuss the same when raising the
guestions of who produces knowledge about Third World women,

An Indian scholar has discovered that women in the Third World are represented in miost feminist literature
on development as having " needs’ and 'problems’ but few choices and no freedom to act. What emerges
from such modes of analysis is the image of an average Third World woman constructed through the use of
statistics and certain categories. It is said that an average Third Werld woman leads an, essentially truncated
lifz based on her feminine gender and her being 'third worid' - ignorant, poor, uneducated, tradition bound,
domestit, family oriented and victimised. This is in contrast to the self-representation of western women as
educated, modern with freedom to make their own decisicns. These representations assume western
standards as the benchmark against which to measure the situation of Third World wemen.

The result is paternalistic attitude on the part of western women toward their Third Werld counterparts. it is
perpetuation of the hegemonic idea of west's supericrity. It is in this process of homogenisation and
systematisation of the oppression of women in the Third World, that power is excercised in much of the
western feminist discourse. This power needs fo be redefined, because of its subjective nature of
interpretation.

The western feminist literature leoks at Third World women with

1. In-depth knowledge of their issues
2.An urge ta liberate them

3. The need to enforce universal values
4. Western standards as real benchmarks
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Options:-

.1, Option ID :- 11085,
. 2, Option ID :- 11086,
. 3, Option ID :- 11087,
. 4, Option ID :- 11088,




Answer Given:- 3, Option ID : -11087

Question ID:- 10271

Scholars refer to the western perception of Third World societies. They discuss the same when raising the
guestions of who produces knowledge about Third World women,

An Indian scholar has discovered that women in the Third World are represented in most feminist literature
on development as having ' needs’ and 'problems’ but few choices and no freedom to act. What emerges
from such modes of analysis is the image of an average Third World woman constructed through the use of
statistics and certain categories. It is said that an average Third World woman leads an, essentially truncated
life based on her feminine gender and her being 'third worid' - ignorant, peor, uneducated, tradition bound,
domestic, family oriented and victimised. This is in contrast to the self-representation of western women as
educated, modern with freedom to make their own decisions. These representations ‘assume western
standards as the benchmark against which to measure the situation of Third World women,

The result is paternalistic attitude on the part of western women toward their Third Werld counterparts. It is
perpetuation of the hegemonic idea of west's supericrity. It is in this process of homogenisation and
systematisation of the oppression of women in the Third World, that power is excercised in much of the
western feminist discourse. This power needs to be redefined, because of its subjective nature of
interpretation.

The western women consider themselves as

1. Saviours of oppressed women

2. Agents of hamogenisation

3. Modern and free

4. Equally exploited like Third World women
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Options:-

.1, Option ID :- 11081,
. 2, Option ID :- 11082,
. 3, Option ID :- 11083,
. 4, Option ID :- 11084,




Answer Given:- 3, Option ID : -11083

Question ID:- 10273

Scholars refer to the western perception of Third World societies. They discuss the same when raising the
guestions of who produces knowledge about Third World women,

An Indian scholar has discovered that women in the Third World are represented in miost feminist literature
on development as having ' needs’ and 'problems’ but few choices and no freedom to act. What emerges
from such modes of analysis is the image of an average Third World woman constructed through the use of
statistics and certain categories: It is said that an average Third World woman leads an, essentially truncated
life based on her feminine gender and her being 'third worid' - igncrant, poar, uneducated, tradition beund,
domestit, family oriented and victimised. This is in contrast to the self-representation of western women as
educated, modern with freedom to make their own decisions. These representations ‘assume western
standards as the benchmark against which to measure the situation of Third World women,

The result is paternalistic attitude on the part of western women toward their Third Werld counterparts. it is
perpetuation of the hegemonic idea of west's superiority. It is in this process of homogenisation and
systematisation of the oppression of women in the Third World, that power is excercised in much of the
western feminist discourse. This power needs to be redefined, because of its subjective nature of
interpretaticn.

The passage is critical of

1. The submissive Third Werld women

2. Modernised western women

3, Hegemaonic ideas of western superiority
4, Homogenisation of feminist discourse
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Options:-

.1, Option ID :- 11089,
. 2, Option ID :- 11090,
. 3, Option ID :- 11091,
. 4, Option ID :- 11092,




Answer Given:- 4, Option ID : -11092

Question ID:- 10270

Scholars refer to the western perception of Third World societies. They discuss the same when raising the
guestions of who produces knowledge about Third World women,

An Indian scholar has discovered that women in the Third World are represented in miost feminist literature
on development as having ' needs’ and 'problems’ but few choices and ne freedom to act. What emerges
from such modes of analysis is the image of an average Third World woman constructed through the use of
statistics and certain categories. It is said that an average Third World woman leads an, essentially truncated
life based on her feminine gender and her being 'third worid' - ignorant, peor, uneducated, tradition bound,
domestic, family oriented and victimised. This is in contrast to the self-representation of wastern women as
educated, modern with freedom to make their own decisions. These representations assume western
standards as the benchmark against which to measure the situation of Third World women.

The result is paternalistic attitude on the part of western women toward their Third Werld counterparts. it is
perpetuation of the hegemonic idea of west's superiority. It is in this process of hamegenisation and
systematisation of the oppression of women in the Third World, that power is excercised in much of the
western feminist discourse. This power needs fo be redefined, because of its subjective nature of
interpretation.

The Third Werld women have an image constructed through the parameters of

1. Compassionate representation

2. Quantification and categorisation
3. Geographical proximation

4. Familial issues
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Options:-

.1, Option ID :- 11077,
. 2, Option ID :- 11078,
. 3, Option ID :- 11079,
. 4, Option ID :- 11080,




Answer Given:- 2, Option ID : -11078

Question ID:- 10269

Scholars refer to the western perception of Third World societies. They discuss the same when raising the
guestions of who produces knowledge about Third World women,

An Indian scholar has discovered that women in the Third World are represented in most feminist literature
on development as having ' needs’ and 'problems’ but few choices and no freedom to act. What emerges
from such modes of analysis is the image of an average Third World woman constructed through the use of
statistics and certain categories. It is said that an average Third World woman leads an, essentially truncated
life based on her feminine gender and her being 'third worid' - ignorant, peor, uneducated, tradition bound,
domestic, family oriented and victimised. This is in contrast to the self-representation of western women as
educated, modern with freedom to make their own decisions. These representations ‘assume western
standards as the benchmark against which to measure the situation of Third World women,

The result is paternalistic attitude on the part of western women toward their Third Werld counterparts. It is
perpetuation of the hegemonic idea of west's superiority. It is in this process of homogenisation and
systematisation of the oppression of women in the Third World, that power is excercised in much of the
western feminist discourse. This power needs to be redefined, because of its subjective nature of
interpretation.

The Western feminist literature depicts Third World women as having

1. Fewer choices and no freedom

2. Greater support from external influences
3, Benefits of modernisation

4, Become amenable to western influence
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Options:-

.1, Option ID :- 11073,
. 2, Option ID :- 11074,
. 3, Option ID :- 11075,
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10119 10475 10169 DROP 10224 10893
10120 10478 10170 10677 10225 10898
10121 10481 10171 10682 10226 10904
10122 10486 10172 10688 10227 10906
10123 10491 10173 10690 10228 10909
10124 10495 10174 10695 10229 10916
10125 10497 10175 10699 10230 10917
10126 10504 10176 10702 10231 10921
10127 10506 10177 10705 10232 10928
10128 10512 10178 10709 10233 10930
10129 10514 10179 DROP 10234 10935
10130 10517 10180 10720 10235 10940
10131 10524 10181 10722 10236 10942
10132 10525 10182 10726 10237 10945
10133 10530 10183 10732 10238 10951
10134 10535 10184 10733 10239 10955
10135 10537 10185 10740 10240 10957
10136 10541 10186 10744 10241 10964
10137 10548 10187 10747 10242 10967
10138 10549 10188 10750 10243 10970
10139 10556 10189 10753 10244 10974
10140 10558 10190 10757 10245 10979
10141 10563 10191 10764 10246 10981
10142 10567 10192 10765 10247 10988
10143 10569 10193 10771 10248 10989
10144 10574 10194 10774 10249 10993
10145 10578 10195 10778 10250 10999
10146 10581 10196 10781 10251 11004
10147 10588 10197 10787 10252 11005
10148 10591 10198 10792 10253 11011
10149 10594 10199 10795 10254 11014
10150 10598 10200 10799 10255 11017
10151 10602 10201 10804 10256 11023
10152 10606 10202 10808 10257 11028
10153 10610 10203 10810 10258 11029
10154 10613 10204 10813 10259 11035
10155 10617 10205 10817 10260 11040
10156 10624 10206 10822 10261 11043
10157 10626 10207 10825 10262 11045
10158 10629 10208 10829 10263 11051
10159 10635 10214 10855 10264 11055
10160 10639 10215 10859 10265 11058
10161 10641 10216 10863 10266 11062
10162 10646 10217 10867 10267 11067
10163 10650 10218 10870 10268 11069
10164 10656 10219 10874 10269 11073
10165 10657 10220 10880 10270 11078
10166 10664 10221 10882 10271 11083
10167 10667 10222 10887 10272 11088
10168 10672 10223 10889 10273 11091
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